Ml = 0l & AFESE EH Al A
2023 =0iAF LBHS|H AS Y
2A: ASY
HEM: =) 2 WH(ABI=R/F=)
oelr F=HEE Ol (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
A= 7,509,849 5,969,372 1,540,477
= 5,523,315
[ 465,402
Al 1,521,132
FH 28 NE(ABI=R/FE) 7,394,657 5,831,048 1,563,609
= 5,523,315
[ 465,402
Al 1,405,940
Z=HEH HA 7,394,657 5,831,048 1,563,609
= 5,523,315
[ 465,402
Al 1,405,940
ES =PI 460,280 190,280 270,000
201 L2 S 280 280 0
01 AF22t2IHI 280 280 0
OFe 2 Mal Rl
28021%10Z+1000H 280
ENEEEENT] 370,000 100,000 270,000
01 Al&H] 370,000 100,000 270,000
OgIE FHIHE 2A(SHXA)
70,000,0002 % 14! 70,000
OPIE HHIAY 300,000
—2AH(H2, EX)
70,000,0002*3S 210,000
—8IE EAH| 5,000,0002+3= 15,000
—BIZLEX ZTAHI(HE, IE2FXHE S)
25,000,00024+35 75,000
402 QIZHRF=0[E 90,000 90,000 0
01 QIZF A2 A E R (XHHITHS ) 90,000 90,000
OgIT FHAE(BXZE HNH)
1,500,000 +60= 90,000
ZEFE R2AY 714,416 610,916 103,500
201 LB 33,200 33,200 0
01 AF22t2IHI 33,200 33,200 0
OAFE 2 ZHAS SHINQAAS| AL
70,0002 x5 *23] 700
OZSFepe| BX2 MOAs| &t
70,0002 %5223 700
OBSFE AEHZA 31,800
—QIATARSH(HBAL S| HAL, DI A
300,000 +4ZH+52U+53] 30,000
—Q2ZXAL 0] 2 DS
90,0002 x4 %53 1,800
301 YEEAS 2,016 2,016
11 BALAHIXIS 2,016 2,016 0




SA: HEY
2 =) 2 N (ALSI=XI/=EH)
el FHEE i (Crel: &)
SA - FH . SRI(B) - HIRAY - BAS il b ] Hl D=2
OISFE 22| 2Ar & ZEAS 29 24|
7,0002 %182+ 163] 2,016
308 RHXISHHISOIA 4,200 700 3,500
11 22 S0 HEHZ AR QIE AL 4,200 700 3,500
OnsSZeaz| NS(RIE) 4,200
—QI=X WHE3O &Y 1S
700,000 %63 4,200
401 A& HIL 20| 75,000 75,000 0
01 Al&ZHI 75,000 75,000 0
OARZ BSTE HEEA
5,000,000 * 1574 A 75,000
402 BIZFXHE0[H 600,000 500,000 100,000
01 DI AL E X (KAL) 600,000 500,000 100,000
OBSTELEES KA (Z2IThar 60%, HI2tel
CHat 80%) 600,000,000 * 14l 600,000
ZRAAC o0 4,700 4,700 0
201 LB 4,700 4,700 0
01 AlR22lH] 4,700 4,700
OZ&ALL 4,700
—QRAB A At 70,0002 %753 2,450
—QIRAEA01H] 90,0002 5% *53] 2,250
(2)=H=0 6,120,461 4,953,752 1,166,709
= 5,508,415
[ 428,432
Al 183,614
301 LBIEAZ 4,620,461 4,253,752 366,709
= 4,158,415
[ 303,432
Al 138,614
01 AFBIEEESHS(ZDEEME) 4,620,461 4,253,752 366,709
O30 ZMEZH(FHZ0)
4,620,461,00024%1 4! 4,620,461
= 4,158,415
[ 323,432
Al 138,614
403 R XISHHIEXH20IH 1,500,000 700,000 800,000
= 1,350,000
[ 105,000
Al 45,000
02 2 2SN CHEI 2R QIEAFIHI 1,500,000 700,000 800,000
O=E7XN=0 1,500,000,0002 14! 1,500,000
= 1,350,000
[ 105,000
Al 45,000




24 A=)
B )| 8 WA (M=K
el FHEE i (Crel: &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
(2)sHEZH QIR ALY 26,600 11,400 15,200
= 13,300
& 3,990
Al 9,310
402 IEAHE01M 26,600 11,400 15,200
= 13,300
& 3,990
Al 9,310
02 QI ESAAE AR (01X ) 26,600 11,400 15,200
OsHE ZOHQ=E I XIJAAY
3,800, 000& *7IH A 26,600
= 13,300
L= 3,990
Al 9,310
(EEER ATNESZ 0| KA 65,000 60,000 5,000
& 32,500
Al 32,500
307 2I12t01 & 65,000 60,000 5,000
& 32,500
Al 32,500
08 OIXtENZ 65,000 60,000 5,000
OHIERR UXESS OIXKIE ArY
1,625,000& *400t 65,000
= 32,500
Al 32,500
(=) OlAHEI XI&AIS 3,200 0 3,200
= 1,600
= 480
Al 1,120
301 LetE8E= 3,200 0 3,200
= 1,600
= 480
Al 1,120
01 AIBIEEE 62 (2 NEXTHE) 3,200 0 3,200
OO0IAHH] & MEE X3
40,0002 %817 3,200
= 1,600
& 480
Al 1,120
HEMUT (I ELXISIHL/XSLEAI) 27,552 53,484 N25,932
e ASME 27,552 53,484 225,932
EHA=ES L 25,022 24,286 736
101 @1248| 15,392 14,656 736




2A: ASY
MM ASHH(RELUXAINL/XSLTAI)
CHel: AXBE HASHUE (Chol: ®2l)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
04 JIFRI22IEES 15,392 14,656 736
OAESUE MM 2% 018
76,9602 % 1Hx2002 %13 15,392
201 LB AH| 9,630 9,630
01 AbR2t2IHI 9,630 9,630 0
OASZH THTPY(AEHL 38)
470,000 %14l 470
OfIBA=2 A= S4B
500, 0002 x23 1,000
oA=L 8,160
—%2 34 =Y 70,0002 %203 33| 4,200
—AHE A =E 30,0002 *20%H 33 1,800
—2l2 &4 ol 90,0002 *8H+33] 2,160
=222 2,530 2,530 0
201 B2 A H] 2,530 2,530
01 AF22t2IHI 2,530 2,530 0
Os8AF= 2AHUS Z208 HOI0IE
1,200,000 13 1,200
OASAY THIPU(SIHFEX 2 45)
700,000 %12 700
OZ2HEZ2 Mal Rl
15024 * 14230001 630
HHSAAH| (A=) (JIEHIIEH 87,640 84,840 2,800
J1=23H| 87,640 84,840 2,800
J1=2ZH 87,640 84,840 2,800
201 B2 A H] 23,040 21,240 1,800
01 AF22t2IHI 23,040 21,240 1,800
O=AEX 724 20,0002 %158t Ax 122 3,600
OS20HAsl 8,000 x6A!x 15 x 122 8,640
Otz 100,000+ 12 1,200
OARD SA7RUH| 50,0002 * 12 600
OARD 24 8,100
—SADI(UE) =2 1,000,000 1CH 1,000
—T2if 2| 100, 0002 *4CH*50% 200
—SADI EH 200,000 53] = 1CH 1,000
—Te2lg EH(E)
200, 000253 4 CH 4,000
—D2IH EH(Z)
200,000 %53 *1CH 1,000
—PC =cl 100,000 15CH*20% 300
—JIEt ==2lH| 50,000+ 122 600
OJIE AtRZH2IH 5,000 %158+ 122 900
202 O] 59,400 59,400
01 20| 59,400 59,400




SA: ASD
I HYR2ABHI(ASD) (JIEHIIE)
chel: Jl2Ad| (CHl: X 21)
SA - A SR(B) - AIRAI - BAS o vy ] bl D2
Ot o] 20,0002 * 15122 * 122 43,200
OZ2| 0| 90,0002 * 152412 16,200
203 Y2 3,000 3,000 0
04 PNSIL2FXIL 3,000 3,000
ORNMZILRFEI 250,000 %12 3,000
204 =2 B2H] 1,200 1,200
01 M AP LAY 1,200 1,200 0
OXHZALLHAH|(ASUE)
100,000+ 1% 12 1,200
405 XHAHE S 1,000 0 1,000
01 Y 2EF S| 1,000 1,000
OXHAHE S 1,000
—d&) Fe 1,000,000 % 1CH 1,000




